IREFLAR

w PR LwRiE ()
tnf = OLE, ROUERD L,

(1) tan20 (2) tan 40 (3) tan (40 — %)
WOGEMIC LY EE DHI {an} EZD.

a1 =0, apy1=3a,+4n—-4 (n=1,2,3,...).

(1) ang1+s(n+1)+t=3(an+sn+t) ZH7=TELK s, t ZRD L.
(2) —H an, & n FHWTHRYE.

N
(3) Y an & N ZHNTHRE.

n=1

ZEIIT 4 4% 0(0,0,0), A(1,0,1), B(0,4, —4), P(p.q.7) B> %.
(1) oD 4 BRFE—FHE LICH D E &, r & p g TEYE.

(2) THBD 4 AARR—FE LCHY, 0, A, B 25 P 2Lk 4% b 55k L
Ch DL X, P OEMEARD L.

WEOY A 21 (A) & 1,...,6 DHOHDHEENZDHORE HF LT
5,70 1:2:3:4:5:6 & 72oTWH%Aan (B)BZdbb. A/ an
(A), (B) 134 RCIRKAICE RN ET 5.

(1) 4 2w (B) 2L X, 1 OHBHBHRE KD L

(2) 2 5D A T M BEERIC 1 SERY, ZOH A anZHEFL X, 1O
A B R 2 R k.

(3) 2 2DH A A NLEAELIZ 1 SDEBRY, ZOF A anziiflx, 10
BAMT. Z20L ZITRATEY A a0h (A) ThoHERERD K.

RIS f(z) = logw + 222 — 5a (v > 0) & 5.
(1) f(z) OERE f/(z) 25K k.

(2) f(z) PRffiA & DEDORK 2 29 RTRD, 20 2 12BWT f(z) BEAT
B N T I B D AR X

(3) Wi y = fz) OB L T, L OMEENE/INERD bODFRAERD L.





